
PCT1800-50hz-P-

230V
Text

€. Ex 

moms

Skr  ex. 

moms
inkl. moms

10-0043 SPACER FOR SAFETY LIP € 14,00 172,20 215,25 kr

10-0044 SAFETY LIP FOR CAPSTAN DRUM 57 MM & 85 MM € 34,00 418,20 522,75 kr

10-0069 GUARD PLATE PCT1800-50Hz € 16,00 196,80 246,00 kr

10-0073 HANDLE ADAPTOR PCT1800 € 20,00 246,00 307,50 kr

10-0094 WINCH HANDLE € 17,00 209,10 261,38 kr

10-0098 BUSHING FOR SAFETY HOOK € 3,00 36,90 46,13 kr

10-0100 Repstyrning                           (Serie nr före  4602  10-0333) € 42,00 516,60 645,75 kr

10-0101 REPTRISSA MÄSSING € 22,00 270,60 338,25 kr

10-0102 RETAINING WASHER (1/4 X 1-1/4 OD) - ZN € 0,90 11,07 13,84 kr

10-0103 REP STYRNING € 22,00 270,60 338,25 kr

10-0119 SHOULDER BOLT 5/8 X 1-1/2 - ZN € 9,00 110,70 138,38 kr

10-0170 CABLE HOUSING BRACKET € 23,00 282,90 353,63 kr

31-0010 HCS 1/2-13 X 6 - GR5 - ZN € 3,60 44,28 55,35 kr

31-0011 HCS 1/4-20 X 2-1/4 - GR5 - ZN € 0,50 6,15 7,69 kr

31-0014 HCS 3/8-16 X 1-1/2 - GR5 - ZN € 0,70 8,61 10,76 kr

31-0019 HCS 3/8-24 X 1 GR5 - ZN € 0,60 7,38 9,23 kr

31-0024 BHCS 1/4-20 X 1 - SS € 0,40 4,92 6,15 kr

31-0025 BHCS 1/4-20 X 3/4 - SS € 0,30 3,69 4,61 kr

31-0033 SHCS 5/16-18 X 1-3/4 - SS € 1,50 18,45 23,06 kr

32-0002 HEX FLANGE SERRATED BOLT M6-1 X 12 MM - ZN € 0,30 3,69 4,61 kr

Nästa sida

Reservdels nr PCT1800 50hz 230V              2022



Sid 2

PCT1800-50hz-P-

230V
Text

€. Ex 

moms

Skr  ex. 

moms
inkl. moms

33-0005 NUT 1/2-13 NYLON - ZN € 0,40 4,92 6,15 kr

35-0001 INTERNAL TOOTH LOCK WASHER 1/4 - ZN € 0,10 1,23 1,54 kr

39-0005 NUT 1/2-13 NYLON - ZN € 5,10 62,73 78,41 kr

39-0008 OIL PLUG 3/8 - ZN € 0,70 8,61 10,76 kr

39-0028 TAPPING SCREW - SLOTTED HEX WASHER HEAD - 10-16 X € 0,30 3,69 4,61 kr

41-0004 CABLE END € 0,50 6,15 7,69 kr

42-0019 PLUG CEE 7/7 - 250V - 16 AMP GROUNDED € 26,00 319,80 399,75 kr

43-0013 KEY FOR CAPSTAN DRUMS (5/16 X 1-1/4) € 2,00 24,60 30,75 kr

43-0015 STEEL BUSHING IR1616 1-1/4 X 1 X 1 € 6,10 75,03 93,79 kr

44-0010 NEOPRENE 1/16 X 2 € 0,60 7,38 9,23 kr

44-0019 VINYL GRIP € 2,70 33,21 41,51 kr

49-0032 TYPE "U" DRIVE SCREW #4 (0.114" X 1/4") S/S € 0,30 3,69 4,61 kr

70-0007 RGS - ATTACHMENT ASSEMBLY € 95,00 1 168,50 1 460,63 kr

70-0008 RGS - PIVOTING ASSEMBLY € 345,00 4 243,50 5 304,38 kr

70-0032 PRÉ-ASSEMBLAGE MOTEUR 50HZ € 1 147,00 14 108,10 17 635,13 kr

PCA-1110 57 MM CAPSTAN DRUM WITH ROPE GUIDE AND 2 SCREWS € 75,00 922,50 1 153,13 kr

PCA-1281 SAFETY HOOK WITH LATCH € 6,00 73,80 92,25 kr


